AV ke 2t

YIMT=RAEBFERK (48)

B |’ % dl 5 & SHRATE
1|8 8:00~ J\IET=Ra—h

2 | K

3 K 8:00~ J\IET=Xa—hF =

4 | K 8:00~ J\IBT=Ra—h L =iber |

5 (& BEEBMGEEIRE~12AFET HERER
6 |L 8:00~ J\IET=R3—hk

7 |B ]

8 | A AZH-1aE{
9 |k 13:00~ M\WBF=Za—F P B TR
10 | K HEERR
1K MER%E~17:30 J\ET=Z3—+| {EAE ~ 238 RAHBO FAEEDS
12 | & MER%k~17:30 J\IET=Ra—h ] RAEBQ

13 | 8:00~ INIET=ZA3—hk

14 |8

15 | B |#9%7:30~8: 10/:g#%~17:30|/\IETF=Xa—} AR

16 |k |#3#7:30~8: 10/ RH~17:30| /\IET=X3—Fk RAE®

17 |7k EMEAR
18 | K| 8#%7:30~8: 10/ E % ~17:30(/\IFT=RXa2—hk RAEHG é@?ﬁ-g%‘ﬁ;‘ﬁjﬂ
19 | & EA%7:30~8:10 J\IET=ZX3—hk BESEH-BHRR
20 | £ BREX= REEAR—L 5| EREES R

21 |H

22 | B MER%~17:30 J\IEF=Z2—h +  RAEHG®

23 | X MER%E~17:30 J\IET=Xa—hk 1TFERAED

24 | 7k BREHE
25 | K MER#%~17:30 J\IET=Ra—Fh ESRMR2
26 | & MER#%~17:30 J\IET=Xa—hk

27 |+ 8:00~ J\IET=2a—h

28 |H

29 | A 8:00~ J\IET=R3—k RRfnA
30 [ X MER%~17:30 J\IET=Xa—hF




